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. Solid-state drive
. Proxy
. ISP

. Domain name

. Firmware

. Network attached storage (NAS)
. Arithmetic logic unit

. RAID

10. Virtual memory
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2
3
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5. Malware
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1. Most business initiatives succeed or fail on the basis of the quality of their data.
Effective planning and decisions depend on systems that make data available to
decision makers in usable formats on a timely basis. Explain data governance.
(10%)

2. Sales and marketing information systems can expand the capacity to create new
product, service, channels, and market opportunities that lead to new revenue
streams. Data-driven, fact-based decision making increasingly relies on data that
are hot impacting the business or potential customer right now. Explain ‘push-
through marketing’ and ‘pull-through marketing.’ (12%)

3. Enterprise mashups improve operational efficiency, optimize the sales pipeline,
enhance customer satisfaction, and drive profitability. Within government,
mashups have positively impacted strategic areas such citizen engagement and
satisfaction, financial transparency, project oversight, regulatory compliance, and

legislated reporting. Discuss the benefits of the enterprise mashups. (18%)

4. As retailing evolved, new channels emerged that were initially thought to be
separate and distinct. Describe how an ‘omni-channel retailer’ is likely to be

different from a traditional, single-channel retailer? (19%)

5. More recently, businesses and entrepreneurs have turned to the crowdsourcing
model to raise money for business start-ups or projects. A number of
crowdfunding sites have become popular in recent years. Discuss the types of

crowdfunding and give some examples. (20%)

6. Social network analysis (SNA) is the mapping the measuring of relationships and
flows between people, groups, organizations, computers, or other information or
knowledge-processing entities. Online communities have received increasing
attention from the business community. Lists the benefits online communities

can be used as a platform for enterprises. (21%)
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—, RERRRETHEEREEERECER, (25%)
= {UEEEEEE % H (Data Base Management System, DBMS)? (25%)
=. {TEEEH L (Normalization)? FREEFIFEA S = EHAL - 25%)

O ~ {aE8 F #2 (primary key)? {55 secondary key? (25%)
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(a). int *ptr;

(b), int*str[4];

(c). int (*fn)();

(d). int *fn();

(e). BIFHZBEEHE (self-reference structure)

—, ARETFI C B AR, (25%)
(a).
int total = 0, i=
while (i<=100) {
i 4= 1;
total += 1;

1;

}
printf("total = %d\n", total);

(b).
int total = 0, 1=2;
while (i<100) {
total += 1;
i += 2;
}
printf("total = %d\n", total);

(c).
int total = 0, 1i;
for (1=1: i<=100: i++):
total += 1i;
printf("total = %d\n", total);

(d).
int total = 0, 1i;
for (i=1; i<=100; i += 2) {
total += i;
}

printf("total = %d!\n", total);
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(e).
int total = 0, i=1;
while (i<=100) {
total += 1;
i+=1
}
printf("total = %d\n", total);

= (25%)
F— CHFBARST:

int x[]1 = {1, 2, 3, 4};

int *al[l
int **pp

a+l;
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{x+3; X, X+2, X+l};

(a) ~ printf("%sd\n", **pp);
(b) ~ printf("%d\n", *(*pp+2));
(c) ~printf("sd\n", *(pp[l]+1));

(d) ~ printf("%d\n", *pp
(e) » printf("%d\n", *(*

[ L1#2) 5
(a+1)+2));
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